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Elena has £1845 for her 
holiday. Ruben has 148 

ten pound notes and two 
pound coins. Who has the 
least amount of money?

Order these numbers 
from smallest to largest:
3845, 2938,2934, 5847

What is the value of the 
bold digit?

4857

Markus has £1029 to spend 
on his holiday. Ruby has 10 
ten pound notes and nine 
pound coins. Who has the 
least amount of money?

Order these numbers from 
largest to smallest:

8664, 3873, 9823, 9384

4857How many thousands?

What is the 
value of the bold 

digit?8487

Order th
ese 

numbers f
rom 

smallest
 to largest:

4853, 9584, 1204, 

3495

9084

How many hundreds?

5734
How many tens?

Order these numbers from 
smallest to largest:

5505, 5055, 4559, 4053

8745
How many thousands?

What is the value  of the bold digit? 5837

Order these 
numbers from 

smallest to largest: 

7438, 8394, 3953, 9283

Karin 

has £3049 

to spend on a 

holiday. Luna has 3 

ten pound notes a
nd 11 

pound coins. W
ho has th

e 

most amount of 

money?

3850

How many ones?

Order these numbers from 
smallest to largest:

9734, 1832, 4704, 3984

What is the value of the 
bold digit? 

8638

Order these numbers from 
largest to smallest:

7703, 3405, 9835, 9824

Which number is worth 
the most:  

5834 or 9 hundreds?

What is the value 
of the bold digit?

5574

Order th
ese n

umbers fr
om 

largest to
 smallest:

4953, 3923, 2884, 3942

5831
How many thousands?

Which number is worth 
the most:  

1293 or 5 hundreds?

What is the value of the 
bold digit?

9012

Which number is worth 
the most:  

5834 or 9 hundreds?

Order these numbers from 
largest to smallest:

7634, 4823, 8423, 3902
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